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FURART —TH 3,013 6,301 2,941 3,360 k) T —TH 798 1,669 832 837
FRART  — T H 728 1,517 743 774 k) T —TH 552 1,308 646 662
FURART  =TH 1,193 2,613 1,278 1,335 k) - T —TH 747 1,599 817 782
FURART JUTH 2,126 3,595 1,577 2,018 I AN %k % 2,097 4,576 2,295 2,281
%k /B k% 7,060 14,026 6,539 7,487 [ el — 1 H 1,247 2,538 1,230 1,308
IR —T1H 1,134 2,032 993 1,039 E=onl:] —TH 1,193 2,266 1,106 1,160
IR —TH 967 1,996 1,006 990 E=onl:] —=TH 1,328 2,681 1,315 1,366
IR —~TH 1,433 2,834 1,402 1,432 E=onl:] T H 828 1,948 967 981
IR T H 680 1,436 704 732 * k% /3 * % 4,596 9,433 4,618 4,815
IR HTH 1,869 3,692 1,879 1,813 E=OREe — T H 1,016 2,043 975 1,068
* % /NEF k ok 6,083 11,990 5,984 6,006 L=ORE —TH 996 2,083 1,000 1,083
VG IR —T1H 792 1,149 581 568 e =TH 1,681 2,938 1,384 1,554
VG IR — T H 495 933 421 512 L=ORE|f e 1,092 1,762 844 918
%% /NEF k% 1,287 2,082 1,002 1,080 %k /\NEF % % 4,785 8,826 4,203 4,623
JLFLIR — 1 H 726 1,183 554 629 W) — 1 H 1,002 1,980 985 995
JFIIR — T H 767 1,514 740 774 R —TH 692 1,651 834 817
JFIIR —TH 530 842 416 426 W) —TH 1,171 2,574 1,265 1,309
*k  NEE k% 2,023 3,539 1,710 1,829 )| e 931 1,984 995 989
TR —TH 2,031 3,123 1,416 1,707 * % /hEF * % 3,796 8,189 4,079 4,110
TR —_TH 769 1,274 611 663 PEER)I — T H 889 1,843 905 938
TR —~TH 956 1,694 803 891 [EES —TH 743 1,645 771 874
TR T H 401 610 294 316 [EES —~TH 364 804 380 424
* %k /B Ok k 4,157 6,701 3,124 3,577 PEER)I T H 1,380 2,920 1,465 1,455
5 — T H 600 1,113 572 541 %k /\EF * % 3,376 7,212 3,521 3,691
ﬁi £$ E 1E ;?gg 1222 1;33 k ok &fkAEl %k | 42,653 | 83,235 | 40,4056 | 42,830
Vil T H 619 1,247 613 634

*% /NEF k% 3,393 6,661 3,330 3,331




